Lattice Multiplication (J)

Use lattice multiplication to find each product.

6 7 9 3 6 5 8 6
8 2
1 2
6793 x 81 = 6586 x 22 =
5 5 6 5 1 2 4 3
9 4
0 9
5565 x 90 = 1243 x 49 =
9 9 2 2 1 9 6 8
9 9
0 7
6 8 2 4 2 2 6 6
8 1
8 7
6824 x 88 = 2266 x 17 =
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Lattice Multiplication (J) Answers

Use lattice multiplication to find each product.

3 6 5 8 6
4 5 7 2 8 1 1 1 1 )
5 8 6 2 4 1 2 0 6 2
0 0 0 0 1 1 1 1 1 )
5 6 7 9 3 4 2 0 6 2
0 2 3 3 4 8 9 2

5 1 2 4 3
4 4 5 4 9 0 0 1 1 4
5 5 5 4 5 0 4 8 6 2
0 0 0 0 0 0 1 3 2 9
0 0 0 0 0 6 9 8 6 7
0 8 5 0 0 9 0 7

2 1 9 6 8
8 8 1 1 9 0 8 5 7 9
8 1 1 8 8 1 9 1 4 2
0 0 0 0 0 0 6 4 5 7
9 0 0 0 0 9 7 3 2 6
2 9 8 0 0 8 9 6

9922 x 90 = 892,980

4 2 2 6 6

1 16 AT T3 A g 0 0 /0 /To 1,
o, 8,/ 4, 6/ 2 o, 2 2 6/ 6

1 6 A1 13 A g LT A8 4 A
o 8/ 4, 6/ 2 3, 4 4 2 2

0 5 1 2 § 5 2 2

6824 x 88 = 600,512

2266 x 17 = 38,522
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